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= 4,032
ORdedSAER 12,0002 1200 & 144
- 144
202 o4dl 7,200 7,200 0
= 7,200
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SA: =0

E=DARS
B OSSN
©el: 0lSES U AUBA CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
NIEECE 7,200 7,200 0
OCRAEE M2 2257
20,0003 «3E *103| 1204 & 7,200
= 7,200
301 gEtE L= 82,824 78,346 4,478
= 82,824
01 A3l EE E 56l = 77,824 68,346 9,478
O0tsus ¥ FNMLY MElA X 77,824
= 77,824
09 HALAHIEA S 5,000 10,000 25,000
OCEHAEE T2 &0 AH L4 5,000
= 5,000
307 gl2tol & 5,000 10,000 25,000
= 5,000
01 2=2L =4l 5,000 10,000 25,000
ONZEE L XZH S ALY HHlA X
100,000& »10H x53| 5,000
= 5,000
405 XHobF S HI 3,500 2,400 1,100
= 3,500
01 XAt 2 Z FH S| 3,500 2,400 1,100
OARE21017¢ 3,500
— D2 ) HA WA 400,000& +50H 2,000
= 2,000
—ZZOHA ot 150,000& 104 1,500
= 1,500
N SHAEE SgAtdl2el X (KHA) 30,000 0 30,000
201 LB-2E| 25,000 0 25,000
03 A2 Z Hl 25,000 0 25,000
OE2UAEIE AFY AL =X
2,500,000& =103l 25,000
301 g2 L= 5,000 0 5,000
09 HALAHIEA S 5,000 0 5,000
OLEAERE T8 FOHA AHEA 5,000
HHR2IZH(FU=R4A) 46,568 48,453 A 1,885
JlE3l 46,568 48,453 A 1,885
JIE23l 46,568 48,453 A 1,885
201 LB-2g| 26,948 28,953 A 2,005
01 At 2t 2l 17,448 14,653 2,795
O=AERX 7 20,900 x102t A+ 123 2,508
O=SAD 2z 860,000& »12& 10,320
OMZ2R=E 2,280
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2N FUSTA
B AR (FUSTA)
& 123l ool E )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—32X 15,0002 x4+ 12& 720
SPNR= N 10,000& 132+ 128 1,560
OANREE P4 1,500
Oz &l 7,000& x24H +5& 840
02 =224l 9,500 14,300 A 4,800
OfIJIJtE &1 Hale=a 5,000&+12& 60
ORER= 320& =1,0000H 320
O&JIHIE & &Hl =dKX bl
280,000& 122 3,360
Occtvd U = 60,0003 8 A +12& 5,760
202 Odl 11,520 12,000 A 480
01 = LH o4 1l 11,520 12,000 A 480
fAEY ol 11,520
203 YR =2l 8,100 7,500 600
01 JI122L =AY 3,300 3,300 0
OFU=SXAE(43) 3,300
04 EN2I LRI 4,800 4,200 600
ORAM2IYRFLHI 400,000 x12& 4,800
Ne2es(F0=Ex4) 166,787 238,942 AT2,155
HEAHHK = 166,787 238,942 AT2,155
LHEHeH X = 166,787 238,942 AT2,155
701 JIEtSI HSEES 166,787 238,942 AT2,155
01 JIEte HE == 166,787 238,942 AT2,155
OA=SSHSEIA 2HRE &3 164,827
OA==SHEEAH A==50H2IMN =& 1,960
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